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The knight lost his shield yesterday:
he needs to get a new one s00N.

72\ The sentence below s missing 8 punctuation mark i the place
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| the arrow is pointing at. Which punctuation mark- used?

|
Jemima has three more things. 1o do before her guests. arrive tidy the lounge.
make the custard and take the. cake out of the fridge.
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4) Road the sertence below. Insert 1o
colon 5o that the sentence is

hera are thros Temeans Wiy, sine ars the best mode of transport
\heyre quick iheyre chesp and thers & stations all over the country.

) Explain why the sentence needs a colon.





